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Math 8 Practice Assessment ~ Linear Equations & Graphing

1. On the grid provided draw and label the following 1 T
a) x and y axes (!,5>
b) 4 quadrants _%'
c) origin 4.#
d) positive and nego’rlve ends of each axis
2. On the same grid, plot and lobel the following X- —asseha ' o3 pusihie
points: ax's [Z=IN)
a) (2.-4) ‘ ) B -
b) (-5.0) ; ﬁf i)
c) (3,-4) 3,4
d) (1.5) » |
g puly yi’4
3. Create a table of values for each relation for values of -2 to 2. Please show your work
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4. a) Create a fable of values for the graph shown on the right. =T bk
X |9 £z
(|3 fn 9 r s
g— 6 = | *
Y /qa ,% 13
b) How many storeys are there if the total height is 9m? 3 N -
Num:ber}of ';‘to;eys

c) Describe the pattern.
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d) Is it possible o have points between the ones on the graph? Explain your answer.

/\/o‘ Yo-« CMN.'L 6\M L\o(‘Pﬁ

e) Write an equation for this line.

Y= 3x
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5. State whether the following are linear relations. Explain two ways you know.

Table 1 _ Table 2
X 'y X y
1 3 h.3 2 | 3 K
2 | 6 ., 4 [ 9 N
319 %, & | 16 %,¢
4 "2 2 8 24 N
5 | 15 4" 10 | 38
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6. Given the Table of values below, write a linear equation representing the pattern.

Term Number (1) | Term Value (v)
| 8 +5
2 13 R
3 18
4 23

Pattem: *x* gees up by one 45 4" qees up by S.
Equation:v= 544+ 3 C
oV . ... 3-"’- Sx "'3]

7.

Find the y-intercept and x-intercept for the following equations. Write the intercepts as a
coordinate pair.

y=%x+2

y=2x-1

y-intercept (_LO_, =l ) y-intercept (L0, % |

x-intercept (2, O ) x-intercept (-3 ,_0 )
Use the following graph to create an equation AND e e
table of values. 2 R 24

=—X +

X | 3 _

% o Aie— * +%

| ] . A

o A jpe-l+?

113 =

-2t y




9. A taxi company in Kelowna charges customers $5.00, plus $2.00 for each kilometer being
driven. This can be represented as C = 5 + 2d.

a) Create a table of values fof the relation (up to 8 km), and then graph the relation.

Please give your graph a title and label the axes with numbers and units.
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b) Describe the relationship between the variables in ’r%e"gfiaﬂhf ran

A’S \‘)(‘éoej u'o 53 1 “j“ chs ...10 ‘b A

( c) What is the costat 20km?  ~ = & + 24

= 5 + ﬂ@o
- \S + Yo
d) How far can a person be driven by the taxi if s/he fias 2

C=512d (5 = R4
=5+ 4 7 ’ l
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10. Screen-printing a shirt takes 1 minute per shirt plus 2

extra minutes for the initial set up.
a) Write an equation for the statement above.
3—

Explain what each of your variables represent s
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b) How r_r}:ony shirts could Wﬁﬂlﬁvufes?
=S5t% = YF shivts
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c) How long will it take for 36 shirts?

t=S+%
£ =36t
#
( d) Graphthis on the axes provided.
> . st
R ©

X-ans (# oFf hivts )

L4







